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The world has seen an enormous increase in flights for leisure, business and commercial
proposes around the world over recent years.

What do you think are the main advantages and disadvantages \of such flights ?

Do you think flights should be taxed more?

Give reasons for your answer and include any relevant examples from your own knowledge
and experience

Taking a plane for professional reasons or to spend holidays abroad or develop commerce is
more ffrequently nowadays, so the number of flights has been risen-rising significally in the
last decades. We-wit-which-areThis essay discusses the positives and negatives aspects of this
new trend and whether higher taxes should be levied on these flights.

A few decades ago, taking the plane was a luxury, that only wealthy persons could afford
themselves. Now, the prices of the flights have been decreased and this means of transport is
become popular. The family which are living separated in different countries now have row
the chance to travel more frequently to see each other. When my grandfather emigrated in
Switzerland, he did not have the opportunity to see his family because it was to expensive to
pay the trip. [all of this paragraph is unnecessary — it is not answering ANY of the questions —
unless you explain that “lower cost means more people can afford to fly]

Besides, thanks to the increase in flights there are more products expertation-exported and
impertations-imported between the countries, so people have access to a large range of
products than in a few decades before. For instance, actuaty, shops trend to offer more
choices in-on their shelves.

[this paragraph should be joined to the one before it. You have too many short

paragrpahs] Talking about business, it is certain that this airline development is extremely
positive for the business men. Indeed, it offers more flexibility and opportunities to conclude
some contracts directly with customers living abroad.

However the unbelievable increase has some negative aspects. Firstly, Hke-if people do not
pay an-extremeby-expensivehigh prices for their tickets, they will use the-flightplanes as much
as possible without thinking about the environmental consequences. For instance, instead of
using the train, which pollutes less, they will take a plane having-abecasue it has a cheaper
cost.

[this paragraph should be joined to the one before it.] Then, this flight-boom in the number of
flights is not only positive for the business world. Indeed, the workers are asked to travel
more frequently and this can create a large amount of stress.

[this paragraph should be joined to the one before it. Considering the commercial areaaspect,
we discern a huge issue concerning the pollution due to the large commercial exchange and
the consumers will not necessary pay attention on this problem. For example, it is common to
find Hruits \and vegetable from foreign countries at a low price, whereas the local products will

Comment [z1]: A real question would only ask
for your opinion and not both -/+ AND another
question [there are just to many questions to answer]

Comment [z2]: You need an adjective and not an
adverb

[ Comment [z3]: Uncountable noun
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be expensive. [your example of low prices does not fit the main idea before it of pollution.
Your example should be about pollution!

ow-can-we-soly 5rob 2 Taxing-me g 3 ution-2-[don’t ask
questions] In order to solve these problems the government should consider imposing a tax on
flights.| think that this option is a brilliant idea to a certain extendextent. The tax should be
proportional to the customers’ salary. If it was not the case, only people with high incomes
could continue to travel while poor workers would not have any more the possibility to travel
with plane.

You need a concluding paragraph to summarise your essay.

Estimated
Grade

Task 6-7 400 words! You would NEVER have enough time to write all this. | suggest you get your questions
response here:

http://ieltsexaminer.com/Writing-Task-2-Essay.html
http://www.ieltsanswers.com/IELTS-Essay-Questions.html
http://ieltsanswers.com/Writing-Academic-Task1.html
http://ieltsanswers.com/Writing-General-Task-1.html

you gave reasonable answers to all three of the questions asked= advantages, disadvantages, whether to
have a tax

Cohesion 5 Paragraphing is inadequate so your score is limited to 5.
and

coherence Many paragraphs need to be joined together and you need a concluding paragraph. | suggest the
following structure for this essay.

Introduction

Advantages

Disadvantages

whether to have a tax

conclusion

concerning the pollution due to the large commercial exchange and the consumers will

not necessary pay attention on this problem. For example, it is common to fi| Comment [z4]: Uncountable noun

and vegetable from foreign countries at a low price, whereas the local products will be
expensive. [your example of low prices does not fit the main idea before it of pollution.
Your example should be about pollution!

Vocabulary 6 Errors with word choice:
they will use the-fhightplanes as much as possible

to a certain extendextent.
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Errors with word endings:

commerce is more frequenthy nowadays, so the number of flights has been riser-rising
significally in the last decades.

there are more products expertation-exported and wapertations-imported between the
countries

Grammar

5-6

Errors with sentence structure
We-witlbwhich-areThis essay discusses the positives and negatives aspects

The family which are living separated in different countries now have new-the chance
to travel more frequently to see each other.

Firstly, tike-if people do not pay an-extremely-expensivehigh prices for their tickets,
they will use planes as much as possible without thinking about the environmental
consequences. For instance, instead of using the train, which pollutes less, they will
take a plane havirg-abecasue it has a cheaper cost.

Errors with articles (a, an, the) you can do a quiz here:
http://www.ieltsanswers.com/IELTS-Grammar.html

overall

5.5-6

You need to work on paragraphing and also keep reducing errors with vocabulary and grammar.
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